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What does CPU stand for?

(1) Central Processing Unit

(2) Central Power Unit

(3) Central Programming Unit

(4) Central Processing Utility

Which device is considered the brain of the computer?
(1) Monitor

(2) Keyboard

(3) CPU

(4) Mouse

What is the main function of an operating system?
(1) To perform calculations

(2) To manage hardware and software resources
(3) To create documents

(4) To browse the internet



( 2 ) 44. Which of the following is an example of system software?
(1) Microsoft Excel
(2) Windows 10
(3) Adobe Photoshop
(4) Google Chrome
( 1 ) 45. Whatdoes LAN stand for?
(1) Local Area Network
(2) Large Area Network
(3) Long Area Network
(4) Limited Area Network

Introduction to Computers

Computers are electronic devices that can process data and perform tasks
according to instructions provided by software. There are various types
of computers, including desktops, laptops, tablets, and smartphones. The
main components of a computer include the central processing unit
(CPU), memory (RAM), storage devices (such as hard drives and SSDs),
and input/output devices (such as keyboards, mice, and monitors).

( 2 ) 46. What are computers capable of doing?
(1) Storing food
(2) Processing data
(3) Building houses
(4) Cleaning rooms
( 3 ) 47. Which of the following is NOT a type of computer?
(1) Desktop
(2) Laptop
(3) Refrigerator
(4) Tablet
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( 1) 48. Whatdoes CPU stand for?
(1) Central Processing Unit
(2) Central Power Unit
(3) Central Programming Unit
(4) Central Processing Utility
( 3 ) 49. Which component is considered the brain of the
computer?
(1) Monitor
(2) Keyboard
(3) CPU
(4) Mouse
( 2 ) 50. Which of the following is an input device?
(1) Hard drive
(2) Keyboard
(3) Monitor
(4) RAM
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